# On the Hosoya index of trees

#### M. B. AHMADI<sup>\*</sup>, H. ALIMORAD DASTKHEZR

Department of Mathematics, College of Science, Shiraz University

It is well known that the Hosoya index is important in structural chemistry. In [4], authors found a relation between Hosoya index of a tree and eigenvalues of its adjacency matrix. In this paper we give a relation between Hosoya index of a tree and the coefficients of characteristic polynomial of its adjacency matrix.

(Received November 25, 2011; accepted September 15, 2011)

Keywords: Z index, tree, characteristic polynomial, eigenvalue, Vieta's formula

## 1. Introduction

Let G be a connected simple graph with *m* edges and *n* vertices. The adjacency matrix of G is an  $n \times n$  matrix  $A = (a_{i,j})$  in which the entry  $a_{i,j} = 1$  if there is an edge from vertex *i* to vertex *j* and is 0 if there is no edge from vertex *i* to vertex *j*.

If A is an  $n \times n$  matrix, then a nonzero vector x is called an eigenvector of A if Ax is a scalar multiple of n; that is,  $Ax = \lambda x$  for some scalar  $\lambda$ . The scalar  $\lambda$  is called an eigenvalue of A and x is said to be an eigenvector corresponding to  $\lambda$ . [8]

To find the eigenvalues of an  $n \times n$  matrix A we rewrite  $Ax - \lambda x$  as  $(\lambda I - A)x = 0$ . Scalar  $\lambda$  is an eigenvalue of A if and only if det  $(\lambda I - A) = 0$ .

It can be shown that the determinant det  $(\lambda I - A)$  is a polynomial in  $\lambda$  that called the characteristic polynomial of A, i.e. det  $(\lambda I - A) = \lambda^n + a_{n-1}\lambda^{n-1} + \dots + a_n$ .

We represent the characteristic polynomial of A by  $P_n$ ( $\lambda$ ). The eigenvalues of A are the roots of  $P_n(\lambda)=0$ .

The Hosoya index, also known as the  $\mathbb{Z}$  index, of a graph is the total number of matchings in it. A k-matching of the graph G is the set of k edges of that graph which are independent; that is, none of these k edges are adjacent to each other. The Hosoya index is always at least one, because the empty set of edges is counted as a matching for this purpose. Equivalently, the Hosoya index is the number of non-empty matchings plus one. This graph invariant was introduced by Haruo Hosoya in 1971. It is often used in chemoinformatics for investigations of organic compounds.

The Hosoya index of trees is directly related to the graph eigenvalues by  $\overline{z} = \prod_{j=1}^{n} \sqrt{1 + \lambda_j^2}$  [4]. The present

paper aims to prove, by the use of the above relation and Vieta's formula, that for trees, Z index is equal to the sum of absolute value of the coefficients of characteristic polynomial of the adjacency matrix.

### Vieta's formula [6]

Let  $s_i$  be the sum of the products of distinct polynomial roots  $\lambda_j$  of the polynomial equation of degree n

$$p_n(\lambda) = \lambda^n + a_{n-1}\lambda^{n-1} + \dots + a_0 \tag{1}$$

where the roots are taken i at a time. The first few values of  $s_i$  are

$$s_{1} = \sum_{i=1}^{n} \lambda_{i} = \lambda_{1} + \dots + \lambda_{n}$$

$$s_{2} = \sum_{1 \le i < j \le n} \lambda_{i} \lambda_{j} =$$

$$\lambda_{1} \lambda_{2} + \lambda_{1} \lambda_{3} + \dots + \lambda_{1} \lambda_{n} + \lambda_{2} \lambda_{3} + \dots + \lambda_{n-1} \lambda_{n}$$

$$s_{3} = \sum_{1 \le i \le j \le k \le n} \lambda_{i} \lambda_{j} \lambda_{k} = \lambda_{1} \lambda_{2} \lambda_{3} + \lambda_{1} \lambda_{2} \lambda_{4} + \dots + \lambda_{1} \lambda_{2} \lambda_{n} + \lambda_{2} \lambda_{3} \lambda_{4} + \dots + \lambda_{n-2} \lambda_{n-1} \lambda_{n}$$

and so on. Then Vieta's formulas states that  $s_i = (-1)^i a_{n-i}$ .

## 2. Main results and discussion

In this paper we prove that sum of absolute value of the coefficient of characteristic polynomial of the adjacency matrix of a tree is equals to  $\mathbb{Z}$  index. In order to prove this, we need the following lemmas.

**Lemma1**: Let  $\lambda_{\pm}, \dots, \lambda_{n}$  be the roots of characteristic polynomial of a tree, then

$$\lambda_{1} = -\lambda_{n}, \lambda_{2} = -\lambda_{n-1}, \cdots, \lambda_{\left\lfloor \frac{n+1}{2} \right\rfloor} = -\lambda_{\left\lfloor \frac{n}{2} \right\rfloor+1}$$

Proof: [4], [5].

**Lemma 2**: Let  $p_n(\lambda) = \lambda^n + a_{n-1}\lambda^{n-1} + \dots + a_0$  be the characteristic polynomial of a tree, then the coefficients of  $p_n(\lambda)$  are zero alternately. i.e.

$$P_n(\lambda) = \begin{cases} \lambda^n + a_{n-2}\lambda^{n-2} + \dots + a_0 & n \text{ is even} \\ \lambda^n + a_{n-2}\lambda^{n-2} + \dots + a_1\lambda & n \text{ is odd} \end{cases}$$

**Proof**: There are two cases:

Case 1: The number of the vertices of the tree is even. Let  $\lambda_{1}, \dots, \lambda_{n}$  be the eigenvalues of the tree. In this case by lemma 1, we have  $P_{n}(\lambda) = \prod_{i=1}^{n} (\lambda - \lambda_{i})$ 

$$= (\lambda - \lambda_1)(\lambda + \lambda_1)(\lambda - \lambda_2)(\lambda + \lambda_2)\dots(\lambda - \lambda_{\frac{n}{2}})(\lambda + \lambda_{\frac{n}{2}})$$
$$= \prod_{i=1}^{\frac{n}{2}} (\lambda^2 - \lambda_i^2)$$

Therefore, the coefficients of  $\lambda$  with odd powers are zero. Case 2: The number of the vertices of the tree is odd.

Suppose that n - 2k + 1. In this case by lemma  $1, \lambda_{k+1} = 0$  and we have

$$P_n(\lambda) = \prod_{j=1}^{2k} (\lambda - \lambda_j) \lambda = \prod_{j=1}^k (\lambda^2 - \lambda_j^2) \lambda$$

So the power of  $\lambda$  in all term of  $P_{12}$  ( $\lambda$ ) is odd, i.e., the coefficient of  $\lambda$  with even power equals zero. In this case, the constant coefficient will be zero, too.

**Lemma 3**: Non-zero coefficients of characteristic polynomial of a tree are positive and negative alternately.

**Proof:** Suppose that  $\lambda_1, ..., \lambda_n$  are the roots of characteristic polynomial  $P_n(\lambda) = 0$ .

There are two cases:

Case 1: n = 2k (*n* is even).

In this case by lemma 1 and lemma 2, we have

$$P_{\mathbf{n}}(\lambda) = \lambda^{n} + a_{n-2}\lambda^{n-2} + \dots + a_{0} =$$
  
$$(\lambda - \lambda_{1})(\lambda - \lambda_{2}) \dots (\lambda - \lambda_{n}) = \prod_{i=1}^{k} (\lambda^{2} - \lambda_{i}^{2})$$
(2)

The coefficient of  $\lambda^n$  is 1 and the coefficient of  $\lambda^{n-2}$  is

$$-\sum_{i=1}^{n} \lambda_i^2$$
, thus  $a_{n-2} = -\sum_{i=1}^{n} \lambda_i^2 < 0$ . According to (2), it

is not difficult to see that  $a_{n-2l}$  is negative if *l* is odd and is positive if *l* is even.

Case 2: 
$$n - 2k + 1$$
 (*n* is odd).

In this case, we have

 $P_n(\lambda) = \lambda^n + a_{n-2}\lambda^{n-2} + \dots + a_1\lambda = \prod_{j=1}^n (\lambda^2 - \lambda_j^2)\lambda$ and similar to case 1, we obtain the same result.

**Theorem:** Let  $p_n(\lambda) = \lambda^n + a_{n-1}\lambda^{n-1} + \dots + a_0$  be the characteristic polynomial of a tree, then

$$Z = 1 + \sum_{i=0}^{n-1} |a_i|.$$

**Proof:** In [4], authors proved that the value of Z index for a tree is equal to  $\prod_{j=1}^{n} \sqrt{1 + \lambda_j^2}$ . Hence we show that

$$\sum_{i=0}^{n} |a_i| = \prod_{j=1}^{n} \sqrt{1 + \lambda_j^2}$$

There are two cases: Case 1: n = 2m, i.e., *n* is even. According to lemma 1, we have

$$\prod_{j=1}^{n} \sqrt{1 + \lambda_j^2} = \prod_{j=1}^{m} (1 + \lambda_j^2).$$
  
First we prove

$$\Pi_{j=1}^{m} \left(1 + \lambda_{j}^{2}\right) = 1 + \sum_{i=1}^{m} \lambda_{i}^{2} + \sum_{i \neq i < j \neq m} \lambda_{i}^{2} \lambda_{j}^{2} + \dots + \prod_{i=1}^{m} \lambda_{i}^{2}$$
(3)

by induction on the m.

For 
$$m = 2$$
 and  $m = 3$ , we have  
 $(1 + \lambda_1^2)(1 + \lambda_2^2) = 1 + \lambda_1^2 + \lambda_2^2 + \lambda_1^2 \lambda_2^2$ 

$$(1 + \lambda_1^2)(1 + \lambda_2^2)(1 + \lambda_2^2) = (1 + \lambda_1^2 + \lambda_2^2 + \lambda_1^2 \lambda_2^2)(1 + \lambda_2^2) =$$

 $1 + \lambda_1^2 + \lambda_2^2 + \lambda_3^2 + \lambda_1^2 \lambda_2^2 + \lambda_1^2 \lambda_3^2 + \lambda_2^2 \lambda_3^2 + \lambda_1^2 \lambda_2^2 \lambda_3^2$ Suppose that (3) is true for m = k - 1, i.e.,

$$\Pi_{j=1}^{k-1} \left(1+\lambda_j^2\right) = 1 + \sum_{i=1}^{k-1} \lambda_i^2 + \sum_{1 \le i < j \le k-1} \lambda_i^2 \lambda_j^2 + \dots + \prod_{i=1}^{k-1} \lambda_i^2.$$

For m = k, we have

$$\prod_{j=1}^{k} (1+\lambda_{j}^{2}) = \prod_{j=1}^{k-1} (1+\lambda_{j}^{2})(1+\lambda_{k}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \cdots \prod_{i=1}^{k-1} \lambda_{i}^{2})(1+\lambda_{k}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{j}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2}) = (1+\sum_{i=1}^{k-1}\lambda_{i}^{2} + \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2} + \sum_{1 \le i < j \le k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2} + \sum_{i=1}^{k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2} + \sum_{i=1}^{k-1} \lambda_{i}^{2} \lambda_{i}^{2} + \cdots + \prod_{i=1}^{k-1} \lambda_{i}^{2} + \cdots + \prod_{$$

By rearranging (4), we have  $\Pi_{j=1}^{k} \left(1 + \lambda_{j}^{2}\right) = 1 + \sum_{\ell=1}^{k} \lambda_{\ell}^{2} + \sum_{1 \le \ell \le j \le k} \lambda_{\ell}^{2} \lambda_{j}^{2} + \dots + \prod_{\ell=1}^{k} \lambda_{\ell}^{2}$ (5)

Now we intend to show that the relation (5) is equal to the sum of absolute value of the coefficients of characteristic polynomial having roots  $\lambda_1, \lambda_2, \dots, \lambda_n$ . Case 1:n = 2k By lemma 1 and lemma 2, we have

 $p_n(\lambda) = \lambda^n + a_{n-1}\lambda^{n-1} + \dots + a_0 = \prod_{i=1}^k (\lambda^2 - \lambda_i^2).$ By replacing  $\lambda^2 = t$ , we have  $P_k(t) = t^k + a_{n-2}t^{k-1} + a_{n-4}t^{k-2} + \dots + a_0$ whose roots are equal to  $\lambda_1^2, \lambda_2^2, \dots, \lambda_k^2$  and whose coefficients are  $1, a_{n-2}, a_{n-4}, \dots, a_0$  respectively. Using Vieta's formula for  $P_k(t)$ , we have

$$\sum_{\substack{i=1\\i\leq k,j\leq k}}^{n} \lambda_{i}^{2} \lambda_{j}^{2} = a_{n-a}$$

$$\vdots$$

$$\prod_{\substack{i=1\\i=1}}^{k} \lambda_{i}^{2} = (-1)^{k} a_{0}$$

and since the coefficients of characteristic polynomial of the tree are zero alternately, therefore,

$$1 + |a_{n-1}| + |a_{n-2}| + \dots + |a_0| = 1 + |a_{n-2}| + |a_{n-4}| + \dots + |a_0|$$
(6)

Using Vieta's formula and (6), we obtain

$$1 + \sum_{i=0}^{n-1} |a_i|^{=} \mathbf{1} + \sum_{l=1}^{k} \lambda_l^2 + \sum_{1 \le l < j \le k} \lambda_l^2 \lambda_j^2 + \dots + \prod_{l=1}^{k} \lambda_l^2$$
(7)

By (5) and (7)

$$Z = 1 + \sum_{i=0}^{n-1} |a_i|.$$

Case 2: n = 2k + 1, i.e., *n* is odd.

In this case, by lemma 1,  $\lambda_{k+1} = 0$ , and so

$$\begin{split} & \prod_{j=1}^{n} \sqrt{1 + \lambda_j^{z}} = \prod_{j=1}^{k} (1 + \lambda_j^{2}) , \\ & P_n(\lambda) = (\lambda - \lambda_1) (\lambda - \lambda_2) \dots (\lambda - \lambda_k) \lambda (\lambda - \lambda_{k+2}) \dots (\lambda - \lambda_n) = \\ & \lambda (\lambda^2 - \lambda_1^2) (\lambda^2 - \lambda_2^2) \dots (\lambda^2 - \lambda_k^2) \end{split}$$

whose roots will be equal to  $\lambda_1^2$ ,  $\lambda_2^2$ , ...,  $\lambda_k^2$ . By changing the variable  $\lambda^2 = t$  and replacing  $x^i = t^i \lambda$ , we have

$$P_n(\lambda) = \lambda(\lambda^{2k} + a_{n-2}\lambda^{2k-2} + \dots + a_1)$$
  
$$P_k(x) = x^k + a_{n-2}x^{k-1} + a_{n-4}x^{k-2} + \dots + a_1$$

1, we obtain the same result.

## 3. Numerical example

Consider the following trees. The Hosoya index for them is available in table 1.



I GOIC I
----------

Trees	The non-zero coefficients of characteristic polynomial										$Z = \sum_{i=0}^{n}  a_i $
T1	1	-7	11								19
T2	1	-12	48	-80	48						189
Т3	1	-28	336	-2272	9552	-25920	45440	-49664	30720	-8192	172125
T4	1	-10	27	-18							56
T5	1	-6	8								15
T6	1	-6									7

## References

- M.B. Ahmadi, Z. Seif, Optoelectron. Adv. Mater. Rapid Comm. 4(1), 56 (2010).
- [2] M. B. Ahmadi, M. Sadeghimehr, Optoelectron. Adv. Mater. – Rapid Comm. 4(4), 650 (2010).
- [3] M. Fischermann, I. Gutman, A. Hoffmann, D. Rautenbach, D. Vidovic, L. Volkmann, Z. Naturforsch, 57, 49 (2002).
- [4] I. Gutman, Z. Markovic, S.A. Markovic, Chemical Physics Letters, 134(2),(1987).
- [5] I. Gutmann, D. Vidovic, B. Furtula, Chemical Physics Letters, 355, 378 (2002).

- [6] M. Amirfakhrian, Numerical Analysis. Tehran Pourane Pazhoohesh, 2007.
- [7] R. Li, Applied Mathematical Sciences, 3(24), 1171 (2009).
- [8] H. Anton, Elementary Linear Algebra, John Wiley & Sons, 2005.
- [9] I. Gutman, Z. Markovic, The Chemical Society of Japan, 60, 2611 (1987).
- [10] T.M. Westerberg, K.J. Dawson, K.W. McLaughlin, Endeavor, 1(1), 1 (2005).

\*Corresponding author: mbahmadi@shirazu.sc.ir